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Question: 1 
   
A support engineer is tasked with working on an ACP 4200 4.0 system. 
Which three pieces of equipment would the engineer expect to find in the rack that will differentiate the 
system from an earlier release of PodFx 3.X or CPOD 2.X? (Choose three.) 
 
A. Dell R601 Servers 
B. VSP 4824 
C. HP Nimble Storage CS1000 
D. HP Proliant DL360 G10 Servers 
E. VSP 7254 
 

Answer: BCD     
 

Question: 2 
   
Which equipment is standard in a new ACP 4200 4.0? 
 
A. IP 7254 
B. VSP 4850 
C. IP 8284 
D. VSP 7024 
 

Answer: B     
 
Reference: 
https://downloads.avaya.com/css/P8/documents/101054952 
 

Question: 3 
   
Which benefit does the available G450 Gateway provide to the ACP 4200 solution? 
 
A. IP to H.323 translation 
B. SIP to IP transition 
C. IP to POTS transition 
D. SIP to SIP negotiation 
 

Answer: B     
 

Question: 4 
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Refer to the exhibit. 

 
When a support engineer navigates to Orchestrator’s Rack View of an ACP 4200 system, the engineer 
notices that the V1-V6 slots on the right of the diagram are not populated. 
What could be causing this problem? 
 
A. V1-V6 are used to represent Virtual Machines which are not present in this particular system. 
B. V1-V6 are used to represent Vertical PDUs which are not present in this particular system. 
C. V1-V6 are used to represent G450 Media Modules which are not present in this particular system. 
D. V1-V6 are only used for ACP 100 systems. 
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Answer: A     
 

Question: 5 
   
To get a visualization of the hardware components, and their positions in the ACP 4200 rack, which 
management application can an engineer use? 
 
A. MSC 
B. Orchestrator 
C. vCenter Client in Flash mode 
D. vCenter Client in HTML5 mode: 
 

Answer: B     
 
Reference: 
https://downloads.avaya.com/css/P8/documents/101054946 (11) 
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